INDIAN SCHOOL DARSAIT
MATHEMATICS
LARGE NUMBERS, ADDITION AND SUBTRACTION
REVISION WORKSHEET

Class: V Sec: .... Date:

Name: e, Roll No..........
I Fill in the blanks.

a. Theplace of 5in 2,570,800 is

b. The smallest 8 digit number possible using the digits 2,0,8,4,1 is

C. The Hindu Arabic numeral for XCIX is

d. The smallest 6 digit number with different digits is

e. The predecessor of 1,500,000 is

f.  The first even 7 digit number is (Indian system of numeration)

g XXIX + XLIV =

[I. Choose the correct answer.

a. The standard numeral for4,00,00,000 +60,000+ 30+ 1 =

i) 40,60,431 ii) 40,70,431 iii) 40,60,031 iv) 4,00,60,031

b. The period of 1in 1,034,565 is

i) crores ii) thousands iii) millions iv) hundred thousands

c. The Roman numeral for 94 is

i) XLV i) LXXXXIV i) XCVI iv) XCIV

d. Place value of 4in 4,75,00,671 is

i) 4,00,00,000 ii) 4,00,000 iii) 4,000,000 iv) 40,00,00,000
[Il.  Mental maths

a. 10,000 more than 23,450,345 is

b. How many lakhs make a million?

c. The sum of the place value of 7 in the number 7,36,478 is

d. The standard numeral for 5,00,00,000 + 4000 +6 =

e. The next number in the pattern: 46,840 ; 47,840 ; 48,840 ;

f. To find the missing minuend we need to the subtrahend and difference.
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IV. Do as directed.

a. Solve the following.

i) Add 45678 and 3456785 ii) Subtract 34210 from 895420

b. Write the number name and expanded form for 6040900 in Indian system of numeration.

c. Find the difference in place values of 5 in the number: 5,46,93,500

d. Build the greatest and the smallest 7- digit number using the digits 2,3,1,7

Greatest 7 digit number = Smallest 7 digit number =

e. Round the given number:
i) Nearest 10 : 3,704 ii) Nearest 100 : 93,956

ii) Nearest 1000 : 1,00,570
f. If the sum of 9,146 and 2,934 is subtracted from 23,800, What is the difference?

Ans:
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